Problem 1

A lighting gantry is hanging from the ceiling via two cables and supporting
several stage lights as shown below. Assume the gantry itself has a
negligible weight. Draw the shear and moment diagram for the gantry.

2 ft A 8 ft - 5 ft - 31‘ib 2 ft
] 1 I
60 Ibs Q Q Q 60 lbs
80 lbs 80 Ibs 80 Ibs
RYY T
\— z—T— ¥ =~ 3 “\-3—11—\

Z-\:\, - Th *To-w@- Yo-%-g-bo = O
2, = (0)Q) - (39)E®) - )(13) - L)+ (W) = O

& (30)(3)+ () (1) + (L) (18)- (Lo Kzl
Ty= L

= \6S \o s

TR" %LQ -5 = \995 “na

————

6.4 Page 1



<
Lo
N %o %o

T \ o

1 \ |
. SS i &

| =y
-9
U ', '. e
ﬁ\-b ,1. : + 55’ g - 2™ 6 ’ _bsxs ‘~ k(ﬂ;i
\ 320 l

l \’15

|

‘3 \oua‘\‘.o-\ (H)

7‘ \et.r-"i""\ ("“)

=12

6.4 Page 2



